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(1-1) 1+i:\/§(\/i§+%’> —ﬁ(cos%—i—isin%) = /2¢!1
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(1-2) 1= V3i=2 (4~ L) =2 (cos(=3) + isin(~3)) = 2¢

(1-3) 3+ V3i=2v3 (£ + 1) = 2v3 (cos T +isin F) = 2/3e's
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(1-4) —1+i= \/§<_L+\/L§i> = V2 (cos 3 +isin 3T) = /26l %
(1-5) _\/__\/_1_2\/§< 73_%i>=2\/_(cos—+1sm—)—2\/_@
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0000000 e*=cosz+isineg 000000000000 O00OO

(2-1) cos(a+ B) = cosacos 5 — sinasin 3
sin(a + ) = sinacos 8 + cos asin

ei(a-i—/a’) _ elaelﬂ — (COS o +1isin Oé) (COS ﬁ + isin ﬁ)

= (cosaccos f — sinasin B) + i(sin o cos B + cos asin )

0006 = cos(a + B) +isin(a+p4) 0000
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cos(a+ ) +isin(a + ) = (cosacos B —sinasin 3) +i(sinacos B+ cosasin5)  (2)
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(2-2) cosnx +isinnz = (cosz +isinx)”

cosnz + isinnz = " = ()" = (cosx +isinz)"
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a=1+v3i, f=1+i000000000000000
(3-1) af

a=2¢35 000

(3-2) 5°



B=+2e5000
8% = (V2)3(e1) = 2(e')" = 21! T® = 16 = 16 (5)

(3-3) 1+a/2+a?/4+a3/8+at/16 + /32

r=1+a/2+a*/4+a/8+a*/16 + /32 (6)
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r=a/2+a’/4+a*/8+a*/16 + /32 + a’/64 (7)

(1—%)3::1—046/64 (8)
0 =640000(1-5)r=1-0a%/64=000001-540000a=0.
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(3)" - (va2)” - (v9) "5 - (v3) e
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coS T + isinl =¢lTs = ei<§_%>
12 12
_di_a_ 3+
i B \%—i—\%l
1 1+VEi
T V2 1+i

1 (1 +VB)( -
V2 1T+ -1)
(V3+1)+i(v/3-1)

2v/2
_ (V6+v2) +i(V6 - v2)
1
(10)
2 _\/2
DDDDDDDDDDDCOS%:—\/él_f,sin%:—\/_él\/_DDDD



oo s

O00o0ooo0o0d0a, b, c0000 e, b00000O0AO0OOOOOODOODO A =a*+0 -
2abcos 00 000 OOOOO
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& = o - B
= |a — be|?
= |(a — beos 0) + i(—bsin 0)|?
= (a —bcosh)? + (—bsinh)?
=a* +b* — 2abcosf (11)



